f-msg!1:40

f-msg{$wanted:ut2, $free:ut2, $z:ut2}
(es; L; e)
=4et (loc(e) € L)
A ((Tes-isrcv(es; €))
cA (((es-tag(es; €) = mkid{$wanted:ut2}) Vv (es-tag(es; ) = mkid{$free:ut2}))
A (Fi:1d
((: € L) A (=(i = loc(e))) A (es-Ink(es; e) = <i, loc(e), mkid{$z:ut2}>)))))

clarification:

f-msg{$wanted:ut2, $free:ut2, $z:ut2}
(es; Ls e)
=qet (es-loc(es; ) € L € 1d)
A ((Tes-isrev(es; €))
cA (((es-tag(es; e) = mkid{$wanted:ut2} € Id)
V (es-tag(es; e) = mkid{$free:ut2} € Id))
A (Fi:Id
(1 € L €1d)
A (=(i = es-loc(es; e) € 1d))
A (es-lnk(es; e) = <i, es-loc(es; e), mkid{$z:ut2}> € IdLnk)))))
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